IR

B R B R

(& \ \SS2FOEUS ON YOUR NEED_




OUNIBITZ 20144108 - MR 2016
FEEABEFPBXRBEAEEBREL

BE  SERFHREUFARSALE e
RMBEASSNRASEASABE e
-m&%m%%~§%mﬁw~ﬁﬁ

ERAENUE BRERAEEM
ﬂ ﬁ

BRIZBR  —EHEEFUmEF—K
BELRER  BREREPHFTX -
OUNI B O R E B 1R 7 82 £ 9l 7Y 8%
ABEERTD - AETBIFE  BESE
ML EERRZSEEM - § 7]
EHEPEXNME -

Office B /AT]

EmiEE
OEHBRE - PZE) IR ~ REFEAW -~ H((E)@EERIE - TEH
ETHERAM - BKE - i5HEEBERIE ~ JJ1F(BT ~ HSKZSB)...... —

Service team FBIE @R

Lathed F Grinding i & Testi & DetectmnﬁﬁJ Accuray%iﬂﬂ | Detectionig Bl | Research#f g Processplannmg%%ﬁﬁﬂ



A
A BH % 471
Chuck Tool

e BAESD

Tooling System

J,__:; ’*i:i///: __,: f-~l._;.j‘~ C
. ;{} : ﬂg‘--._; \'*{L - 35 $$ @B {tl:
W/ Spindle Clamping Systeams

D
3 oKk B 1

E
Lathes Component

E
= Al 5%
Measuring Equipment

L
¥ fil &

Technical Data




Focus On Your Need 0““'

Stainless Steel Drill Chuck

A i £ 22 51

Key Type Taper & Thread Mount
B L, & PR

*BEEHRBABHETE -

* 455k Et » EE)IEHS ©
*FIBRFEEBLBERERIE
+ESEE. SEMENSRENRIZETERANZEBEL(ER)
*NFINMBEET A DIRTFE » RERIFABZZEARE -

+ Stainless material is applied to each component.

Multi Keyless Drill Chucks
Keyless Drill Chucks for portable drills

SERAFIE EHITH, FEFITAEL -
*FERIARIRT MILIEE -

&2 FRERMNEZSTFRT °

*USH » A » J51&E °

* O Ef D PERETRIE °

*|t can be used on hand tools, power tools and pneu-

matic tools.

*|t can be locked without wrench.
*European design style. +Special design: working smoothly.

*Easy to use, durable and convenient. y ,
y ; +Chemical surface treatment is made for each component.

. ;
It could be customize. + Anti-corrosion(anti-rust)even if used in the environment of high acidity, high alkalinity or high

Model #%% Size R Capacity %4 & Thread Mount 83287 humidity.

A000007420 100010 10M 0.5-10

3/8-24UNF - : - : A VAR -
ST e = e T +Radius design on sleeve: it would not rip the glove; therefore, minimize the risk of operator safety.
il 2l o LI il pols 1/2220UNE Smooth appearance: being convenient for users.
A000007423 100040 135M 0.5-13 1/2-20UNF
o Taper & Thread f : : : ize } '
Modal e Capacity ’,’%% hl e Iength{mmij.% Ed {},::;:1 [:.3 m.;:élm Key Size AR F
; ; mm Inc acK open ose A =
L e o ;Efg ﬁj‘; b IE(EEJ ) B ER SUS303 SUS420)2
A000007357 | 101010 | AMTP 0.3-4 | 1/64-5/32 JTO 28 35 22 50 TO-03 -
A000007358 | 101020 | 6MTP | 0.3-6.5 | 1/64-1/4 JT1 40.5 49 28.5 125 | T1-03 T1-20
A000007359 | 101030 | 6MTH | 0.3-6.5 | 1/64-1/4 | 3/8-24UNF 40.5 49 | 285 | 130 | 11-03 | T1-20
A000007360 | 101040 | 10MTP | 0.3-10 | 1/64-3/8 IT2S 51 63 39 | 250 | T2-03 | T2-20
A000007361 | 101050 | 10MTP | 0.3-10 | 1/64-3/8 D13 57 69 37 250 - -
A000007362 | 101060 | 10MTP | 0.3-10 | 1/64-3/8 D15 57 69 37 | 250 E -
A000007363 | 101070 | 10MTH | 0.3-10 | 1/64-3/8 3/8-24UNF 51 63 39 250 T2-03 T2-20
A000007364 | 101080 | 13MTP | 0.3-13 | 1/64-1/2 IT6 63 77 45 | 420 | T2-103 | T2-120
A000007365 | 101090 | 13MTH | 0.3-13 | 1/64-1/2 | 1/2-20UNF 63 77 45 | 420 | 12-103 | T2-120
A000007366 | 101100 | 16MTP | 0.3-16 | 1/64-5/8 IT6 78 93 55 | 725 | 13-03 | T13-20
A000007367 | 101110 | 16MTH | 0.3-16 | 1/64-5/8 1/2-20UNF 78 93 55 725 T3-03 T3-20

A-01

T0-03

Pilot Size

|FHRN

Weight(g)
[ §

Used on i& A8

A000007368 | 102010 3.2 16 AMTP

A000007369 | 102020 | T1-03 @4.0 40 6MTP, 6MTH

A000007370 | 102030 | T1-20 3.2 40 4MTP
A000007371 | 102040 | T2-03 @5.5 45 10MTP, 10MTH,6HTP
A000007372 | 102050 | T2-20 @5.5 45 10MTP, 10MTH,6HTP
A000007373 | 102060 | T2-103 6.5 13MTP, 13MTH,10HTP
A000007374 | 102070 | T2-120 ?6.5 13MTP, 13MTH,10HTP ,
A000007375 | 102080 | T3-03 @8 16MTP, 13MTH,16HTP,16MTH ) v
A000007376 | 102090 | T3-20 @8 16MTP, 13MTH,16HTP,16MTH

A-02




B_I]_u_c_k_lll_o_o_l Focus On Your Need 0““'

Keyless Taper Mount(#7L) + TORBEEE  BAKCNCRITE VIR Tool Shank Type(# JJ#A =)

Special Heavy duty model - PERREID SEARERREMEEEE Heavy duty & Special Heavy duty model
1SER RS BEmREHZT - SURISER RS

Titanium jaws o RMIFXBASZRIR - RN S MM AR Titanium jaws

HERBE
+ Extremely high accuracy and precision design,

7473
+ RBUREARIMERSISEERE | SIXER

FLER S UDHIES - THERISARIhER -
+ Multi-choices of mounting specification offers quick
under specific QC condition.The clamping three changeover on machine center.

suitable for CNC machines and machine center. All

parts are ground, heat treated, surface treated and

jaws adopt high tech Titanium.

+ The benefit of adopting Titanium is to increase the c D ( ;\
intensity and wear-resistance. 3
" - 65 4 35 0.05
E— 6 | s0
ity HE Thread Mount No. e ] Outer Dia : 4
m:apacuty R :Ch DTNdor o ;b :o ;_pe :gth{mmj 5 ,id e 1,5,;;{51 he : 35 B0c
A =B et = mi(88) (58) N . B aie L . 8 50
A000007257 | 103010 |  3S 0.3-3 1/64-1/8 JTO 44 48.5 24 110 3 5
A000007258 | 103020 |  3S 0.3-3 1/64-1/8 i 24 48.5 24 110 * . 10s 6 | 3| oos
A000007259 | 103030 |  6S 0.3-6.5 1/64-1/4 JT1 62 68 33 300 10 | 58
A000007260 | 103040 | 65 0.3-6.5 1/64-1/4 B10 62 68 33 300
A000007261 | 103050 |  8S 0.3-8 1/64-5/16 T 68 76 38 425 _ i 6 | o
A000007262 | 103060 | 85 0.3-8 1/64-5/16 IT25 68 76 38 425 : R 135 | 10 0.05
A000007263 | 103070 | 8S 0.3-8 1/64-5/16 B10 68 76 38 425 13 | 75
A000007264 | 103080 | 8S 0.3-8 1/64-5/16 B12 68 76 38 425 ol | 6
A000007265 | 103090 | 10s 0.3-10 1/64-3/8 JT2S 80 92 43 625 | 16s 10 1 >> | o005
A000007266 | 103100 | 105 0.3-10 1/64-3/8 JT33 80 92 43 625 16 | 80
A000007267 | 103110 | 10S 0.3-10 1/64-3/8 B10 80 92 43 625 :
A000007268 | 103120 | 105 0.3-10 1/64-3/8 B12 80 92 23 625 KA Keyless Drill Chuck Run Out Table
A000007269 | 103130 | 10S 0.3-10 1/64-3/8 T2 80 92 43 625 Keyless B3 [E] /0 E i Bn
A000007270 | 103140 | 10S 0.3-10 1/64-3/8 B16 80 92 43 625
A000007271 | 103150 | 13S 0.3-13 1/64-1/2 2 90 102 50 1000 Type Capacity ISR pale Taper Weght  gpanner NO.
A000007272 | 103160 | 135S 0.3-13 1/64-1/2 IT33 90 102 50 1000 : - A ek #RET : & AR
A000007273 | 103170 | 13S 0.3-13 1/64-1/2 16 90 102 50 1000 ' w—_— M6
A000007274 | 103180 | 13s 0.3-13 1/64-1/2 B12 90 102 50 1000 A000007347 | 104010 | 65 |0.3-6.5 | 1/64-1/4 | MT2 78 | 54 |32 33 | S | 26575 300 105010
A000007275 | 103190 | 135S 0.3-13 1/64-1/2 B16 90 102 50 1000 e
A000007276 | 103200 165 3-16 1/8-5/8 IT6 g7 110 57 1320 A000007348 | 104020 | 85 | 0.3-8 | 1/64-5/16 MT2 85 |605|36 )| 375 P1.0 30 | 10 | 400 105020
A000007277 | 103210 | 165 3-16 1/8-5/8 JT3 97 110 57 1320 M6
A000007278 | 103220 165 3-16 1/8-5/8 B16 Q7 110 57 1320 A000007349 | 104030 | 10S | 0.3-10 | 1/64-3/8 MT2 95 70 | 41| 43 P1.0 34 | 13 | 650 105030
A000007279 | 103230 | 165 3-16 1/8-5/8 B18 97 110 57 1320 M8
A000007280 | 103240 165 316 1/8-5/8 IT33 97 110 57 1320 AQ00007350 | 104040 | 13S | 0.3-13 | 1/64-1/2 MT3 107.5 | 80.5 |48 | 50 P1.25 38 | 15 | 960 105040
A000007351 | 104050 | 165 | 3-16 | 1/8-5/8 MT3 112 | 85 | 54| 57 PT; 43 | 16 | 1250 | 105050

Hook wrench(2atrF %51)
Hook wrench model

A000007352 | 105010 | 65 70

A000007353 | 105020 | 8S 82

A000007354 | 105030 | 105 | 105
A000007355 | 105040 | 135 | 120
A000007356 | 105050 | 165 | 110

A-03 A-04




Focus On Your Need 0““'

Stainless Steel Drill Chuck K] % 5
Keyless Taper & Thread Mount
L & BRAN

Arbor Type(Ef—HBETN) Titanium jaws #EEA

Special Heavy duty model $5& 8 %5

+ [ B RBEINAGEIB 252 5T » BB EEERMKRRLR
SUHIEEREBRTEIRIR BFEIEB TS
MEXE] MY ARAVEMER S IRBE °

o RMEASRERINSEIERE » I ERNEME
MARERBE -

RGN,

Capacity %551 Taper& Thread  |ength(mm)& /& e Weight + Designed together with arbor structure makes its
Mount No. e e > e .
mm inch St I Closed (mm) (8) performance perfet for drilling press and machine
2Bl 25 0 42 7 2t = m(58) (88) M b 1 _ _
' 2 3 center. Precisely machined and ground compo-
A000007377 | 106010 | 3 0.3-3 1/64-1/8 IT0 44 50 30 110 e
AD00007378 | 106020 | 3S 0.3-3 1/64-1/8 T 44 48.5 24 110 f -g:;fi ¢ v nents ensure the tolerance and accuracy.
A000007379 | 106030 | 65 0.3-6.5 | 1/64-1/4 Tl 62 68 33 300 % O [ess: L & : : ; T
A000007380 | 106040 | 85 | 03-8 | 1/64-5/16 i1 68 76 38 425 ] i f The clamping three jaws adopt high tech Titanium.
A000007381 | 106050 | 10S | 0.3-10 | 1/64-3/8 JT2S 80 92 43 625 — The benefit of adopting Titanium is to increase the
A000007382 | 106060 | 13S | 0.3-13 | 1/64-1/2 IT6 90 102 50 1000 - L . + d .
A000007383 | 106070 | 165 | 3.0-16 | 1/8-5/8 IT6 97 110 57 1320 < = > Intensity and wear-resistance.
-
MT : SEEC HEREAH
e Capacity 555 & Male Taper No. length(mm) & & Weight Spanner NO.
. i : i : DIN or Jacobs = (g #HA
Hex Key Drill Chucki&#s =0 3258 T S e M g o D) - el
Titanium jaws A000007306 | 108010 | 85 | 0.3-8 | 1/64-5/16 MT2 142 | 61 37 400 11004
A000007307 | 108020 | 10S | 0.3-10 | 1/64-3/8 MT2 151 | 70 43 700 11007
i $A A000007308 | 108030 | 135 [ 0.3-13 | 1/64-1/2 MT2 162 | 81 50 1010 11010
. . . A000007309 | 108040 | 135 | 0.3-13 | 1/64-1/2 MT3 180 | 81 50 1140 11010
. i@%tpﬁﬁﬁggﬁm s A000007310 | 108050 | 135 | 0.3-13 | 1/64-1/2 MT4 206 81 50 1450 11010
—_— A000007311 | 108060 | 165 | 3-16 | 1/8-5/8 MT3 186 | 85 57 1445 11013
* BERAORIRS00A. MIBU/). #17) A000007312 | 108070 | 165 | 3-16 | 1/8-5/8 MT4 210 | 85 57 1770 11013

* BESR I3 1200-cm ° D :
* JESKITIERET -

HAA
Capacity 55 &
Eﬂﬂm@wag H : = mrm inch

length(mm)&E W+.:ight Spanner NO.
D{mm)2t {g} &

Male Taper No.
DIN or Jacobs

semmpay A B A TR DR

" | * Arbor structure makes its performance perfect for Gaall) 1l
‘ B _ A000007313 | 108080 | 35 | 0.3-3 | 1/64-1/8 D12 88.5 | 385 24 140
drilling press and machine center. A000007314 | 108090 | 65 | 0.3-6.5 | 1/64-1/4 D16 104 | 54 33 334 11001
— - | . A000007315 | 108100 | 85 | 0.3-8 | 1/64-5/16 D20 121 | 61 37 510 11004
y | * Fine components ensure the tolerance and accura- A000007316 | 108110 | 13s | 0.3-13 | 1/64-1/2 D20 141 | 81 50 1030 11010
X | A000007317 | 108120 | 135 | 0.3-13 | 1/64-1/2 D25 160 | 81 50 1190 11010
@ % cy well. A000007318 | 108130 | 135 | 0.3-13 | 1/64-1/2 D32 162 | 81 50 1405 11010
l * The benefit of titanium i : . : A000007319 | 108140 | 165 | 3-16 | 1/8-5/8 D20 145 | 85 57 1330 11013
The benefit of titanium jaws Is to increase the in- A000007320 | 108150 | 165 | 3-16 | 1/85/8 D25 165 | 85 57 1480 11013
- tensity and wear-resistance. A000007321 | 108160 | 165 | 3-16 | 1/8-5/8 D32 167 | 85 57 1700 11013
R8: AR A

Capacity 7 Weight

Spanner NO.
() ARRT

Taper Mount
MNo. DIN or Jacobs

length(mm) & E Capacity 55 Male Taper No. length(mm )& &

Closed ; mm inch DIN or Jacobs A g D(mm)st
: 2 A ERT, & nE

Model Type

Ry o0 38 4% mim inch open

AW =l i =Ti(89) (89) At

AD00007384 | 107010 8GHK 0.3-8 1/64-5/16 JT1 76 80.5 A000007322 | 108170 | 135 | 0.3-13 | 1/64-1/2 R8 184 81 50 1260 11010
A000007385 | 107020 13GHK 0.3-13 1/64-1/2 IT6 94 105 | A000007323 | 108180 | 165 3-16 1/8-5/8 R8 188 85 58 1530 11013
AD00007386 | 107030 13GHK 0.3-13 1/64-1/2 T4 112 122.5
A000007387 | 107040 16GHK 1.5-16 1/16-5/8 IT6 104 115
A000007388 | 107050 16GHK 1.5-16 1/16-5/8 T4 121.5 1325

A-05 A-06



B_I]_“_G_K_T_o_o_l Focus On Your Need 0““'

Hex Key Drill Chuck Safe Lock Keyless Chuck
5 B T\ 2 BR Keyless Drill Chucks for portable drills

* EISEpsEREREL -

+ SHRERSHT -

+ BEUEEAQNERS CSEERE ; EFERR
fin = YR BEES » EREREREINEIE -

¢ Self lock for chuck design.

Model Type
B 8% MRS

¢ Hi Precision and Hi Torque.

A000007389 | 109010 | GHKS8S MT3 26.5 15 4x12L | 69.5 38 48 37 M8 4 ¢ Multi-choices of mounting speciﬁcatign offers quick
A000007390 | 109020 | GHK13S MT3 26.5 15 4x12L | 89.8 38 48 50 M8 6 .
A000007391 | 109030 | GHK16S MT3 26.5 15 4x12L 95 38 48 50 M8 8 C D changeover on machine center.
] 1 (L)
ap 7] "_""“----..L : z -
Eﬁ i ) 3
F’ 6S 4 A2 0.05
aD UL — 6 | S0
4
B 85 6 =5 0.05
3 A " 8 | 50
RO 5
K 35
W
= 108 6 0.05
10 58
F = | 6
- 55
135S 10 0.05
| —~ 163 75
G Keyless Drill Chuck Run Out Table| 165 10 | >> | 0.05
Keyless $R28R[E/0ERITTR 16 | 80
Model Type Capacityﬁt’gﬁl Male Taper weight Spanner NO.
W s 20 S SERAT ég; BALRT
A000007821 | 110010 | 65 |0.3-6.5| 1/64-1/4 MT2 78 | 54 32| 33 P“':f] 26.5 | 7.5 | 300 105010
A000007822 | 110020 | 85 | 0.3-8 | 1/64-5/16 | MT2 85 |60.5|36| 375 :‘;% 30 | 10 | 400 105020
A000007823 | 110030 | 105 | 0.3-10 | 1/64-3/8 MT2 95 | 70 |41 | 43 Ph:% 34 | 13 | 650 105030
A000007824 | 110040 | 135 | 0.3-13 | 1/64-1/2 MT3 | 109.5|82.5|50 | 49.4 PT; 40 | 15 | 960 105040
A000007825 | 110050 | 16S | 3-16 | 1/8-5/8 MT3 112 | 85 |54 | S7 PTES 43 | 16 | 1250 105050
Hook wrench(a 3 £51))
~ Hook wrench model

Weight
(e)
EE

Model | Type

A000007352 | 105010 | 65 70

A000007353 | 105020 | 85 82

A000007354 | 105030 | 10S | 105
A000007355 | 105040 | 135 | 120
A000007356 | 105050 | 16S | 110

A-07 A-08

HERE(E




\ ¥

\
/

wﬁ
)
@)
2
=
(o]
N
<
(75
~
(M
=

....................................................................................... NNEREREG

....................................................................................... Tooling System




Focus On Your Need 0““'

*

BT CHU CNC Drill Chuck
BTE 4T\ 5 3EA

EHAREHRBERXEMEABTER T E LA
BHIERSLINT -
[EE @RI =ERIF

HSK CHU CNC Drill Chuck
HSKE 455 3k88

¢ [EE@ERERS = ERIFTI -
¢ RBAAERREE -
¢ [EE BRI HMEREE -

¢ BBRAERRIEE -

¢ FEBIREEZ HMISIBLEE -

¢ OJEIATVAYZREE -

¢ The product can be adapted for the general lathe

¢ o] IRTVAYRER
¢ 3 times better clamping capacity, comparing to

keyed drill chucks.

* The drill bit won' t be loosen or falling off.

can supply with BT spindle. j O ( © o * The drill chuck is interchangeable.
. : : ; :
3 times better clamping capacity, comparing to ] e |
/] j N keyed drill chucks. T /]
=) L =
*=F L The drill bit won’ t be loosen or falling off. *=F
- -t
E< ¢ Twice precision than the keyer drill chucks. TYPE #8148 Spanner NO. 2R
“n ¢ The drill chuck is interchangeable. A000007206 | 201010 | HSK50AxOPU13-110 | 110 | 50 50 11010 A
sl A000007207 | 201020 | HSK63AxOPU13-145 145 50 63 11010 9
o TYPE B{1& Spanner NO. A000007208 | 201030 | HSK100AxOPU13-120 120 50 100 11010 E
5 ~
(o) A000007180 200010 BT30xOPUS8-75 75 | 37 4 105030 —
@]
*-E‘ A000007181 200020 BT30xOPU13-90 90 |50 105040 o
S A000007182 200030 BT40xOPUS8-85 85 | 37 105030
3 A000007183 200040 BT40xOPU13-95 95
A000007184 200050 BT40x0OPU13-130 130 | 50 63 105040
A000007185 200060 BT40xOPU13-150 150
A000007186 200070 BT40xOPU16-120 | 120 | 57 105050
A000007187 200080 BT50xOPU13-110 110 50 105040
A000007188 200090 BT50x0OPU13-150 150
A000007189 200100 BTS50xOPU16-110 | 110 100
A000007190 200110 BT50x0OPU16-130 130 | 57 105050

A000007191 200120 BT50xOPU16-145 | 145

B-01 B-02




Focus On Your Need 0““'

BT Hex Key Drill Chuck VDI Hex Key Drill Chuck

-
-,

TYPE #R18

58 Capacity

mm

inch

A000007209 | 202010 BT40xGPU13-98 0.3-13 3/64-1/2 98 63 \

A000007210 | 202020 | BT40xGPU16-103 1.5-16 1/16-5/8 103 63

A000007211 | 202030 | BTS50xGPU13-109 0.3-13 3/64-1/2 109 100 g 7]

A000007212 | 202040 | BT50xGPU16-114 1.5-16 1/16-5/8 114 100 = s _ 5
ode TYPE 1813 M35 E, Capacity *=F

BT 5w =0 2258 VD& w288
/—EiD
1N = *
. O % E
e | e |
4 =

mm

@50

inch

-t
-,

2 A000007219 | 204010 | VDI30xGPU16-93 | 0.3-13 | 3/64-1/2 | 93 | 68 | 28 | 30 2
gjﬁ A000007220 | 204020 | VDI30xGPU16-98 | 1.5-16 | 1/16-5/8 | 98 | 68 | 28 | 30 "_}‘E
i A000007221 | 204030 | VDI40xGPU13-93 | 0.3-13 | 3/64-1/2 | 93 | 83 | 32 | 40 A
g A000007222 | 204040 | VDI40xGPU16-98 | 1.5-16 | 1/16-5/8 | 98 | 83 | 32 | 40 =
= HSK Hex Key Drill Chuck oL
o HSK 5 h =( 5558 =
= o
- @63
(]
= . i
g o
JoflC- O+ 8 |8
[ 1 1
L

Riz® Capacity

mm Inch

A000007217
A000007218

203010
203020

HSK63AxGPU13-105
HSK63AxGPU16-110

0.3-13
1.5-16

3/64-1/2 105
1/16-5/8 110

B-03 B-04




Focus On Your Need 0““'

Coolant Pipe O-ring BT Threading Ground Models
Bk 7 Pull Stud
é = {\ i BTHE 5F BY
- . v = L\
) 1 Y ﬂ 1 /\
L1 L2 . R { @ }
, Lk

G000009332 | 221010 | HSK32 6 |M10x1.0 | 26 205 | 5.5 P4 NModell BETYPE

G000009333 | 221020 | HSK40 8 | M12x1.0 | 295 22 75 P6 : 785 1542
G000009334 | 221030 | HSK50 10 | M16x1.0 | 33 23.5 9.5 P9 G000009344 | 223010 | BT30-45°G| 13 | 43 | 23 | 11 7 | 165 | 125 | m12
G000009335 | 221040 | HSK63 12 | M18x1.0 | 365 25 115 P11 T e e e e e e e T e
T T T Csousss 00 s o | o3 | o5 |5 | 11 | 30 | 5 [woe| B3
] A : : G000009347 | 223040 | BT30-60G | 13 | 43 | 23 | 11 7 | 165 | 12.5 | mM12 3
5 G000009348 | 223050 | BT40-60G| 19 | 60 | 35 | 15 | 10 | 23 | 17 | m1s 5
Z G000009349 | 223060 | BT50-60G | 30 | 85 | 45 | 23 | 17 | 38 | 25 | m24 Z
G000009350 | 223070 | BT30-90°G | 13 | 43 | 23 | 11 7 | 165 | 125 | mM12
w4t BT Coolant Thru-Hole Models G000009351 | 223080 | BT40-90°G | 19 | 60 | 35 | 15 | 10 | 23 | 17 | m16 R
3' Pull Stud G000009352 | 223090 | BT50-90°G | 30 85 45 23 17 38 25 | M24 9
% BT/KFLEUHI#2 F’,r
Q DIN A Type Pull Stud 2
: o
& u /’\ DIN AZUir42 o
g - = __——-——— A( OEL__.--
=3 r

}

I - E— SW

i
Al
N

I

I

|

|
dl
-

Model  TYPE
. sa 42 T W L1 @D1 @OD2 ®D3 @D4 G
G000009338 | 222010 | BT40-45" | @4 Model  TYPE
G000009339 | 222020 | BT4060° | @4 | 19 | 60 | 35 | 15 | 10 | 23 | 17 | M16 . Fen @®D1 @D2 @D3 @D4 @D5 G

ik RS
G000009353 | 224010 | DIN 30A 14 | 44 24 13 9 1.7 13 . M12
G000009354 | 224020 | DIN 40A 19 | 54 | 26 19 14 23 17 7 M16
G000009355 | 224030 | DIN40-A-L | 19 | 54 | 29 19 14 23 17 7 M16
G000009356 | 224040 | DINSOA | 30 | 74 | 34 28 21 36 25 | 11.5 | M24

G000009340 | 222030 | BT40-90° | @4
G000009341 | 222040 | BT50-45" | @7
G000009342 | 222050 | BT50-60° | @7 30 85 45 23 17 38 25 | M24
G000009343 | 222060 | BT50-90° | @7

B-05 B-06




Model
KSR

Y RPE
RAS

Focus On Your Need 0““'

eD3
oD4

-

1112

45—+

oD2

DIN B Type Pull Stud
DIN BZY;

oD

i

@D1

@D2

@D3 ©@D4 ©@D5 G

ISO A/ ISO B Type Pull Stud

ISO A2/ ISO BEIHI#2
N
. RN _ . (élt ﬂ i '@Q%
v % ~

oD3
oD4
oD1

-
=y * N

L1 W

|
!

Model
it o

TYPE

RS @D2 @D3

@D4 @D5

G000009357 | 225010 | DIN30OB | 14 | 44 | 24 | 13 9 | 17 | 13 | - | M12 G000009361 | 227010 | 1SO40-A| 19 | 54 | 26 | 19 | 14 | 23 | 17 | 7 | M16
G000009358 | 225020 | DIN40B | 19 | 54 | 26 | 19 | 14 | 23 | 17 | 7 | m16 G000009362 | 227020 | ISO50-A | 30 | 74 | 34 | 28 | 21 | 36 | 25 | 11.5 | M24
G000009359 | 225030 | DINSOB | 30 | 74 | 34 | 28 | 21 | 36 | 25 | 11.5 | M24 G000009363 | 227030 | 1SO 40-B | 19 | 44.5 | 46.4 | 18.8 | 12.95 | 22.5 | 17 | 7.3 | M16

G000009364 | 227040 | 1SO50-B | 30 | 655 | 255 | 29.1 | 19.6 | 37 | 25 | 1.5 | M24 7]
T

- -

LB DIN R Type Pull Stud CAT Standard Models Pull Stud o

“n DIN RE! 42 CATHE & R 2 5

- G 0

o -

o | \ B G &

= —— O

2 sk N B 2

i ——_— (104 —

wn il S I ) o i A R\ A 775 /P . & - o N N (N : o e /@Sﬁ’ o

< | X O

ﬂ e

S oL . e |l____| |

3 — SW -— J:

Mocelll RYEES 'ow Ml i1l lop1l l@p2. foDs [ ob4l [oDs L SW
R 8 JEAE .
G000009360 | 226010 | DIN40-R | 19 57 [32] 15 | 10 | 23 | 16 | 4 | M16xP2.0 - -

Model TYPE

SW Ll @®D2 @D3 @D4

Al AR

G000009365
G000009366

228010
228020

CAT40 | 0.75 |15
CAT50 | 1.25| 2.3 1

0.74 | 0.49 | 0.94
1.14 | 0.82 1.44

0.281 | 5/8"-11
0.468 1”-8

B-07 B-08




/]
4=
%
A
—l
O
o
°
Qo
(Va!
<
¥y
&
3

swea}sAs buidwe|) ajpuids I¥

--------------------------------------------------------------------------------------- R

....................................................................................... spindle Clamping Systems




spindie Glamping System Focus On Your Need JUNH

BT Pull stud type clamplng units ¢ BEETHERER - OTT Pull stud type clamping units ¢ B&EX# CEREER -
O3 M o BEESEY  BE WA RIYER - eI . BEESEM B T RTER -

¢ My BBIRRETE200= EAREGLET ©
o MBIRANDAIKEPFRZETRIE °
¢ OJE]BLEIR | TIN. RIR -

¢ Suitable for use on spindles.

* My RBIRRNETE2005 ERREGEZE
* MERADIKEFPFEREZETRIE -
+ OJETREEIR : TiN. RE °

+ Suitable for use on spindles.

¢ Strictly selected for steel, strength, durability, size + Strictly selected for steel, strength, durability, size

requirements. requirements.

¢ Durable cycle times are designed for 2 million ¢ Durable cycle times are designed for 2 million

- gl - usage times. usage times.
A - ¢ Claw type and tension can be designed and man- + Claw type and tension can be designed and manu-
: ;- W o «Eg E ;1.%' ufactured by customers. ma; — ! . factured by customers.
¢ Options : TiN. Zinc phosphate. | - + Options : TiN. Zinc phosphate.

' 1 %
- Fs

*
** Ma

FS:Max.Clamping Force & X#1./]7]
MA:Max Tightening Torque Ex KEH 32 H*E

FS:Max.Clamping Force BxKXH17]7]
MA:Max Tightening Torque Bx KFH3X1HE

wn (72
o Model Model Type = o)
= B MR8 =
% G000000087 | 300010 | BT30-45°| 45 M10x G000000096 | 301010 | BT30-45" | 45 | 195 | 59 |27 | 5 |225| 23 | 91 | 19 | 10 | 12 %
B [l lsominor] © s |ws| 0 | # YT 0 | @ oo | oz 3305 | 5 z
o ol PP o= e G000000098 | 301030 | BT40-60° | 60° | 27.6 | 795 |40 | 7 | 34 [345| 117 | 27 | 11 | 18 0
_g G000000090 | 300060 | BT40-60°| 60° | 28 | 26.4 | 285 | 16 35 Tﬁ" 82 70 gﬁggﬂmﬂ ggig‘;g g;:g'zgﬂ ig" _g
= G00000005.17]: 30007011 BT40-:901= 90 G000000101 | 301060 | BT50-60° | 60° | 43.0 | 1165 (56 | 8 | 49 |495 | 163 | 40 | 12 | 20 =3
Q@ G000000092 | 300080 | BT50-45°| 45 _— S Q
wn G000000093 | 300090 | BT50-60° 60° | 43 | 404 | 435 | 22 | 54 98 | 90 G000R00102 | 301010 | Blabtn | ot w
S 6000000094 | 300100 | BT50-90°| 90° L 6000000103 | 301080 | CAT40 | 45 | 276 | 795 |40 | 7 | 34 |345| 117 | 27 | 11 | 18 S
) G000002744 | 300110 | BT60-45°|  45° o 6000000104 | 301090 | CATS0 | 45" | 430 [ 1165 |56 | 8 | 49 [495] 163 | 40 [ 122 20 =
Q G000000095 | 300120 | BT60-60°| 60° | 62 | 58.6 | 62.5 | 30 7| 5: 130 | 125 G000000105 | 301100 | DIN40 | 15" | 27.6 | 795 [40 | 7 | 34 [345] 117 | 27 [ 11 | 18 Y
3 G000002745 | 300130 | BT60-90°|  90° ' 6000000106 | 301110 | DINSO | 15" | 43.0 [ 116556 | 8 | 49 [495] 163 | 40 [12.2] 20 3

G000000087 | 300010 | BT30-45° G000000096 | 301010 | BT30-45" | 23 | 57.5 714 | 106 | 114 | 1.0 | 3.2 | M10*1.25P 10 30

G000000088 | 300020 | BT30-60°| 20° | 37 | 7.5 | 35 | 3.0 | 3.0 | 20.5 | 4.0 10 30 5 G000000097 | 301020 | BT40-45°
G000002743 | 300030 | BT30-90° G000000098 | 301030 | BT40-60° | 24.5 | 60.3 | 100.35 | 14.10 | 20.20 | 0.65 | 3.7 | M14*15P | 18 | 65
G000000089 | 300050 | BT40-45° G000000099 | 301040 | BT40-90°
G000000090 | 300060 | BT40-60°| 26° 52 10.0| 45 6.0 3.5 |33.0]| 55 18 65 6 G000000100 | 301050 | BT50-45°
G000000091 | 300070 | BT40-90° G000000101 | 301060 | BT50-60° | 31.5 | 68.8 | 146.75 | 14.70 | 29.25 | 1.00 | 4.2 | m16*15p | 35 | 160

G000000092 | 300080 | BT50-45°
G000000093 | 300090 | BT50-60°| 35° | 69 |16.0| 50 | 95 | 45 |37.0| 85 35 160 10
G000000094 | 300100 | BT50-90°
G000002744 | 300110 | BT60-45°
G000000095 | 300120 | BT60-60°| 40° | 96 | 23.0| 6.5 |16.0| 5.0 [49.5] 115 70 450 17
G000002745 | 300130 | BT60-90°

G000000102 | 301070 | BT50-90°
G000000103 | 301080 | CAT40 |24.5|77.55| 84.5 |11.20| 3.40 |1.60|2.9 | M14*1.5P 18 65
G000000104 | 301090 | CAT50 |31.5| 87.8 | 127 | 149 | 9.45 | 1.05| 3.8 | M16*1.5P 35 160
G000000105 | 301100 | DIN4O |24.5| 66.5 | 94.2 |11.20| 14.10 | 0.65 | 3.8 | M14*1.5P 18 65
G000000106 | 301110 | DIN50 |31.5| 79.6 | 135.6 | 149 | 18.05|1.05| 3.5 | M16*1.5P 35 160

C-01 C-02




S!lilll"e clam!lillg SUSI:em Focus On Your Need 0““'

CAT Pull stud type clamping units ¢ &&%Ex#EERER - DIN69872 ¢ BETETHCERER -
CAT &3 m ¢ BEESHEM B8 MA RYER - Pull stud type clamping units ¢ EE&5#  8E » WA RIYEX -
* fiil FRTBIR R BTE200% B IR BERET - DIN69872 X &f3&/M * iy ARIR B TE2008 ERRIERE -

* MBRANDIIKEPFKZETRIE -
+ OJE]R5EIR : TiN. BER -
+ Suitable for use on spindles.

* MBIRAINAIKEZEPFKRZETRIE -
+ TJETREEIR : TiN. RIE ©

+ Suitable for use on spindles.

+ Strictly selected for steel, strength, durability, size ¢ Strictly selected for steel, strength, durability, size
requirements. requirements.
¢ Durable cycle times are designed for 2 million ¢ Durable cycle times are designed for 2 million

usage times.
+ Claw type and tension can be designed and man-

ufactured by customers.

usage times.
¢ Claw type and tension can be designed and man-
ufactured by customers.

+ Options : TiN. Zinc phosphate. * Options : TiN. Zinc phosphate.

g min g min
8 h h
. k-0.2 2 k-0.2
l -I--i
E ) E L=y - -Er
swW = =] e = : par
- o ) ?‘J o E ?.'n E ?-u
a |e 8 ® 8 =8 S S = =
a | | |
—— | —
—— ____.__\__"-___'_' . | | | — — .
B ¥ — I —
I — 1 | — " ' i - i—t .| '*
! T Fs — Fs

&**Mﬁ.

* *
i B
fic fic
% %

h, =05 ha=05 .
hs p i , - P abeSF
LS @SS - LS& @SS
FS:Max.Clamping Force & A#17]7] FS:Max.Clamping Force &z XH1/)7]
MA:Max Tightening Torque Ex KIEZEHH*E MA:Max Tightening Torque Ex KIEZXIHE

Model Type Model  Type o

Rl 5% AT vt i) o 1848 +15= i d e f Erin h
G000002578 | 302010 | CAT30 45° 19 17.8 | 195 10 24 M10x1.5P 50 47 G000002574 | 303010 | DIN30 15° 19 17.8 | 19.5 10 24 M10x1.5P 50 47
G000002579 | 302020 | CAT40 | 45° 28 | 26.4 | 285 | 16 35 | Miex15P | 82 | 70 G000002575 | 303020 | DIN4O | 15° | 28 | 264 | 285 | 16 35 | mi16x15p | 82 | 70
G000002580 | 302030 | CATSO | 45 | 43 | 404 | 435 | 22 sa | m22x1.5p | 98 | 90 G000002576 | 303030 | DINSO | 15° | 43 | 404 | 435 | 22 54 | m22x1.5p | 98 | 90
G000002577 | 303040 | DIN6O | 15° | 62 | 586 | 625 | 30 77 | m3ox15p | 130 | 125

Fs max. MA
kN Nm Fsmax. MA SW
G000002578 | 302010 | CAT30 | 20 [ 37 | 7.5 [3.5] 3.0 | 3.0 | 32.7 | 3.0 10 30 5 kN Nm  mm
G000002579 | 302020 | CAT40 | 26 | 52 | 100 [ 45| 6.0 | 35 | 50 | 45 18 65 8 G000002574 | 303010 | DIN30 | 20 37| 75 |35 | 3 [3.0| 195 | 4.0 10 30 5
G000002580 | 302030 | CATS0 | 35 | 69 | 160 | 50| 95 | 45 | 58 | 7.0 35 160 | 10 G000002575 | 303020 | DIN40 | 26 |52|10.0| 45| 6 |3.5]| 40.0 | 45 18 65 8

G000002576 | 303030 | DIN5O | 35 |69|16.0| 5.0 | 95| 45 | 48.0 8.5 35 160 10
G000002577 | 303040 | DIN6O | 40 |96 |23.0| 65 | 16 | 5.0 | 745 | 11.65 70 450 17

C-03 C-04




SIIilll"B clamllillg SHSIBIII Focus On Your Need 0““'

ISO Pull stud type clamping units ¢ Suitable for use on spindles. HSK Griper o —ERIEE DR -
NeEZ LI + Strictly selected for steel, strength, durability, HSK EE7E M o FEESHM > MA -
size requirements. o 4SPEEN=L | IEEHEES o
¢ EESETH FEREH - + Durable cycle times are designed for 2 million : ' ' ¢ FAEHSKRITIES R FE » FTEHEBTE -
* BEFSHEY - BE  WHE Y RYER - usage times. ¢ OJE]ELEIR | TiN. CrN. DLC. RIS, IR -
¢ iy B IR B TE200 8 fE FB R BIELET - + Claw type and tension can be designed and * Integrated Stucture:Easy to be installed.
* MERANIKEPEREETRIE - manufactured by customers. + High rigidity. High durability.
¢ TIETELEIE : TN B - ¢ Options : TiN. Zinc phosphate. + Special Design:High Reliability.

+ Suitable for high-speed machine center. To make
HSK Tool-Holders steady.

MA:Max Tightening Torque Bx KR IHFE

Model  Type

¢ Options : TiN. CrN. DLC. ArtiCo. Zinc phosphate.
= e-02 -]
= f 201 yed
= g o
-‘L-.--.- e —
il P =

= ! g% |y | % =+
Em i \'l._._'f 3 . Em
B =] e | AP

”iﬁ i 1] 7 ] T

{q: I,r"x‘ L T e = — L n ﬁ:
wn - ... b CN— ; *

o) \\J S5 i L T Nl 3 ﬂ . -%]
= awg| L LT B — —— y ——f'”qi = =}
o Ma L T — 3 o
® il \ == ®

'g. ha=05 _| h_ 'g

Q e L. FS:Max.Clamping Force B X#17]7] 2

- &
& a
® )
Q Q)
= 3

G000002583 | 305010 | HSK32 | 32 17 | 225 | 17 6.6 | 62.5 | 43 30 M6x1.0P 3l

G000002584 | 305020 [ HSK40 | 40 | 21 | 265 | 21 [ 86 | 78 | 58 | 44 | m8x1.25P | 5.6
G000002585 | 305030 [ HSK50 | 50 | 26 |33.0| 26 [ 106 | 84 | 61 | 45 | M10x1.5P | 6.4
G000002586 | 305040 [ HSK63 | 63 | 34 | 416 | 34 [ 146 | 94 | 68 | 52 | m14x15P | 7.4
FS:Max.Clamping Force B X#1./]7] G000002587 | 305050 | HSK80 | 80 | 42 | 50 | 42 | 166 | 98 | 72 | 56 | M16x1.5P | 8.3
G000002588 | 305060 | HSK100 | 100 | 53 | 63 | 53 [ 184 | 124 | 93 | 70 | M16x1.5P | 9.15

Fsmax. MA SWI1 SW2 0w EE

FIG.2 hs _ P
LS« o SS

Model Type M@5%

257 RIS Fig

h max.

G000002581 | 304010 | 1IS0-25 | 1 i |45 | a5 | e (B8 asq | M8FL08 | 88 | 327 ' kN Nm mm mm  Max. RPM
G000002582 | 304020 | 1SO-25 7 g ¢ 13 : M8*1.25P | 60 58 G000002583 | 305010 | HSK32 | 85 | 0.5 | 19.5 7.5 5 10 12 3 57,000
G000002584 | 305020 | HSK40 | 85 | 0.5 | 27.0 8 6.8 15 15 4 45,000

G000002585 | 305030 | HSK50 | 10.5| 0.5 | 26.5 9 11 20 18 4 37,000

' G000002586 | 305040 | HSK63 | 10.5| 0.5 | 31.5 10 18 30 24 5 29,000

o0z lasiz Bes lza oy [y [ g [ e [RELER 0 [ 5 |1 [i2 000002587 | 305050 | skso | 13 |05 [ 29 | 11 | 28 | 30 | 27 | 6 | 20000
G000002588 | 305060 | HSK100 | 13 | 05 | 345 | 125 45 50 36 6 15,000

C-05 C-06




S!]illl"ﬂ clam!lillg SUStem Focus On Your Need 0““'

Wire Springs » —BERNEIINERET » HB%K. HEERSEE - Coil Springs o —EEMBUTERET » MR, HiEREE -
T o BRI > TIREBTANBEDE - e s o BENT) ) TREHTANBERT -
* HEIBTE » SEEMRIE - ¢ HETRE » SLZEMERIE -
¢ RYTKEFEERIE ° s ASLETKRFFPEERYML -

+ One-piece design, easy to assemble and maintain. + One-piece design, easy to assemble and maintain.

+ The small outer diameter of the spring provides great spring ¢ The small outer diameter of the spring provides great spring

load. load.
+ Stable load and high safety operation. ¢ Stable load and high safety operation.
+ Dimensions can be manufactured according to customer's + Dimensions can be manufactured according to customer's
specifications. specifications.
d , _ d
| I T .
OO (O XA
N GNLININY N, 1 %
| |
\ ‘ b c hl
+ AAAAANAA I ! +
- N / i i
{q: Model Free Length e Free Length {q:
ik =[z:pS | ' =[z:pS
-g' G000003243 | 306010 5010.2 12.1540.1 2410.1 G000003244 | 307010 88.510.2 20.20.1 39.340.1 -'é’
5. 5+
Q- Q-
1) 360 . 1700 (1)
0 340 — 1600 e 0
) 320 - 1500 = )
= 300 /""' 1400 — =
T, 280 — 1300 — T,
- 260 /f 1200 = =
© 240 1100 — -
(Vg L
< B 220 = o 1000 —- 1
A = 200 — 2 900 — A
D 150 B 800 . =
o % 160 - {2 700 -~ w
"l e
= 140 - 600 - 3
120 /f“ 500 /,.f

80 7 300 /f"'

60 200 —

40 = -~ 100 //""

o g ¢ 1 > 3 4 5 6 7 8 9

0

1 2 3 4 5 6 7 8 9 1% (mm)
1% (mm)

C-07 C-08




S!lilll"e clam!lillg SUSI:em Focus On Your Need 0““'

Spray Nozzle Series Press Fit Type ¢ JESRBEXKOBE » BRHEE. B, Spray Nozzle Series +TJESHBEKOSE » BRHER. P SBAEERE - 2
5K 5B BEfD BY 2BaNRRE » [ETEIS MRS, - Thread Mount Type AR BEIER -
+ BARAS VR #RK BERSEN IR EGER gl S ERRGETHIE, SR ERSSNITAK -
- +diERNMLMERBEN » MBHIRERITEERASJMAR
¢+ JIRSINIURRBEN » MBEIRER D ASEEE o
TEERSHARDRARE - * The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the coolants correspond

with three pressures-low, medium and high pressures, it can improve cooling efficiency of tools.

* They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Machine, Grinding Machine and so on.

+:lhe Colant:opray Nozzle: could-easlly: agustiils:direction and spray procisely. Yhen the * The products can enhance the processing efficiency and accuracy. Also it is helpful for extending the lifetime

coolants correspond with three pressures-low, medium and high pressures, it can precisely aim SR A A R 55

at workpiece.
1
+ They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Machine, Grinding 1 SN i
Machine and so on. ~| Fyp el o | = ‘:"%
« The products can enhance the processing efficiency and accuracy. Also it is helpful for extending ! - ),
I the lifetime of tools and decreasing the cost. Lt L o 35
L - - -
Em Model Thread mount Em
G000002649 | 310010 PT1/8 20
{tl: G000002650 | 310020 PT 1/8 40 10 6 5 4 17 1¢
A G000002651 | 310030 PT 1/8 60 iA
O, G000002652 | 310040 PT 1/4 20 xof
> G000002653 | 310050 PT 1/4 40 10 6 5 4 17 =
% 5000002654 | 310060 |  PT 1/4 60 %
A G000002655 | 310070 PT 3/8 30 A
== L G000002656 | 310080 PT 3/8 50 13 8 10 6 24 T
= G000000107 | 309010 | @15 g4 8 i - - 1 6000002657 | 310090 PT 3/8 70 =)
= G000002777 | 309020 | _ @12 325 7 - - - 1 G000002658 | 310100 |  PT1/2 40 =
Lg G000000108 | 309030 @15 . 8 6 @3 @6 2 G000002659 | 310110 PT 1/2 60 18 10 12 8 32 l.g
wn G000000110 | 309040 | @12 - 7 7 ?2.5 @6 2 G000002660 | 310120 PT1/2 80 wn
S G000003049 | 310280 | M10*1.25P 18.2 8.5 6 4.5 4.5 17 5
= L G000002661 | 310130 | M10*1.25P 20 =
Q G000002662 | 310140 | M10*1.25P 40 8 6 5 4 17 Q0
= 1 e G000002663 | 310150 | M10*1.25P 60 =
. Ed | | G000002664 | 310160 | M20*1.5P 30
e (A7 ""r G000002665 | 310170 | M20*1.5P 50 13 8 10 6 24
i | 21 g‘i diidi o '—"Si G000002666 | 310180 | M20*1.5P | 70
o [ N/I LN T ! G000002667 | 310190 | M24*2.0P 40
| NI G000002668 | 310200 | M24*2.0P 60 18 10 12 8 31
11 G000002669 | 310210 | M24*2.0P 80
G000002670 | 310220 | NPT 1/4 20
L1 G000002671 | 310230 | NPT 1/4 40 10 6 5 4 17
(TETR) G000002672 | 310240 | NPT 1/4 60
G000000111 [ 309050 | @15 M5x0.8 | M5x0.8 8 @2.5 @6 11 G000002673 | 310250 NPT 3/8 30
G000002773 | 309060 | @14 M5x0.8 | M5x0.8 8 @2.5 g6 11 G000002674 | 310260 | NPT 3/8 50 13 8 10 6 24
G000002675 | 310270 | NPT 3/8 70

C-09 C-10




spindie Clamping System Focus On Your Need JUNI

Spray Nozzle Series ¢ JESHBRKOBE » BHHEE. P SHaIREE - Spray Nozzle Series Leak Lock Type

Thread Mount Type feFt IR malE. lEKeE IEmEY
)} 3 TS :
. ¢ O)I2EE 2 ’ > 1= = g
Stainless Type A i iff m;;$gﬁ 7] 7 Stainless Type 38 l
Ritionaniad | o FEPRERET T TIENE LE (R4S LD MR, ' '
+ The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the cool-

ants correspond with three pressures-low, medium and high pressures, it can improve cooling o HRNEE » TiER )R ERS®.

efficiency of tools. ¢ Special design for avoiding oil leaking.
+ They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Machine, Grinding Ma- « Not delaying spraying fluid which prolongs the N N .
chine and so on. ' F| ol5| T
longevity of the tool holders. ! /
+ The products can enhance the processing efficiency and accuracy. Also it is helpful for extend- ongevity of the tool holders
Alloy Steel Type & i | L1 L

ing the lifetime of tools and decreasing the cost.

Model Thread mount

i |

RS IR AUAE 1
G000002703 | 312010 PT 1/8 40
G000002704 | 312020 PT 1/8 60 " 5 ’ -
G000002705 | 312030 PT 1/4 40
G000002706 | 312040 PT 1/4 60
* G000002707 | 312050 PT 3/8 30 +
Em 6000002708 | 312060 PT 3/8 50 13 8 10 24 ﬁm
G000002709 | 312070 PT 3/8 70
iy Misdall EThiaad it G000002710 | 312080 | NPT 1/4 40 i " : - il
A% 0 f4 48 132 G000002711 | 312090 NPT 1/4 60
s G000002676 | 311010 |  PT 1/8 20 6000002712 | 312100 | NPT 3/8 30 s
% 5000002677 1311020 PT1/8 20 10 6 5 17 G000002713 | 312110 | NPT 3/8 50 13 8 10 24 %
= 5000002673 | 311030 PT 1/8 50 G000002714 | 312120 | NPT 3/8 70 =.
= C000002679 (517075 PT 1/ >0 G000002715 | 312130 | M10*1.25P 40 - 2 " - s
® G000002680 | 311050 |  PT 1/4 40 10 6 5 17 G000002716 | 312140 | M10%1.25P 60 ™
2 5000002681 311060 PT 1/ 50 G000002717 | 312150 | M20*1.5P 30 0
) 6000002682 | 311070 PT 3/8 30 G000002718 | 312160 | M20*1.5P 50 13 8 10 24 )
.g G000002683 | 311080 |  PT3/8 50 13 8 10 24 Ghoonecilo | 12100 ] MAD71oP .- -g
5 G000002684 | 311090 | PT 3/8 70 Stainless Type A5 5l _ 5
Q G000002685 | 311100 PT 1/2 40 Model Thread mount Q
&4 G000002686 | 311110 PT 1/2 60 18 10 12 32 R 5 IR AAE 1B o)
) G000002687 | 311120 PT 1/2 80 G000002720 | 312180 PT 1/8 40 o
® G000002688 | 311140 | M10*1.25P 20 G000002721 | 312190 PT 1/8 60 6 2 ; 2 o
= G000002689 | 311150 | M10*1.25P 40 8 6 5 17 6000002722 | 312200 PT 1/4 40 =
G000002690 | 311160 | M10*1.25P 60 6000002723 | 312210 PT 1/4 60
G000002691 | 311170 | M20*1.5P 30 6000002724 | 312220 PT 3/8 30
G000002692 | 311180 | M20*1.5P 50 13 8 10 24 G000002725 | 312230 PT 3/8 50 13 8 10 24
G000002693 | 311190 | M20*1.5P 70 G000002726 | 312240 PT 3/8 70
G000002694 | 311200 | M24*2.0P 40 G000002727 | 312250 | NPT 1/4 40
G000002695 | 311210 | M24*2.0P 60 18 10 12 31 G000002728 | 312260 | NPT 1/4 60 e . : 1?
G000002696 | 311220 | M24*2.0P 80 G000002729 | 312270 | NPT 3/8 30
G000002697 | 311230 | NPT 1/4 20 G000002730 | 312280 | NPT 3/8 50 13 8 10 24
G000002698 | 311240 NPT 1/4 40 10 6 5 17 GO000002731 | 312290 NPT 3/8 70
G000002699 | 311250 | NPT 1/4 60 G000002732 | 312300 | M10*1.25P 40 - - : -
G000002700 | 311260 | NPT 3/8 30 G000002733 | 312310 | M10*1.25P 60
G000002701 | 311270 | NPT 3/8 50 13 8 10 24 G000002734 | 312320 | M20*1.5P 30
G000002702 | 311280 | NPT 3/8 70 G000002735 | 312330 | M20*1.5P 50 13 8 10 24
| G000002736 | 312340 | M20*1.5P 70




S!lilll"ﬂ clam!lillg SUStem Focus On Your Need 0““'

Shaft Coupling * REEED  BREREN - Shaft Coupling

AR TRl ER ¢ RIBER - EEFE - fR =) =V sk e 3
* ZRIFHES °
+ The expansion sleeve has a high clamping force.

¢ EINEE 5 FEEIIE -
* ZRIFHES °

¢ BBYE > MESWTHE -
+ Smooth operation.
+
+

+ Smooth operation. Easy to install and disassemble.

+ Easy to install and disassemble. Aluminum material, anti-electromagnetic interference.

L
G M~
= =
Q| ©
S I
12—~
= [ | ! = T
= = =11 1 T O
i * 3§
F “
Model Type < 5 % : = Tkn/Tkmax &X 8% (Nm) ////' s 7 {I}O‘{" A
' me BT : 3 ' . HIE(Nm) (min") ERWE VT / ]
G000002639 | 317010 19 | &&% | 40 [12~20| 66 |25 |18 | 16 | 12 | 2.0 | 21/42 3000 | 41 | m4 5/5 S L . >
000002641 | 317030 24 | &%M | 55 |12~18] 78 |30 [22 |18 [ 14 | 20 | 75/150 | 24000 | 85 | ™S
G000002643 | 317050 | HW6 | 28 | &% | 65 |19~38 | 90 |35 [ 27 | 20 | 15 [ 2.5 | 200/400 | 24000 | 85 | Ms 11 12
000002645 | 317070 38 | &%M | 80 |22~48 114 |45 [35 |24 [ 18 [23.0| 405/81 | 18000 | 14 | M6
G000002647 | 317090 42 | &% | 95 | 22760 | 126 | 50 | 35 | 26 | 20 | 30 | 560/1120 | 12000 | 35 | M8 Model Type _ . . S | e s UL U T,
B 2R T T W & E R 55(Nm) (min') ®F REWE
000003251 | 318010 24 [55[15~28| 78 |30 [18 [14 | 2 | 75/150 | 6950 | Ms | 7.5 | 8 | 14| 20 | 565
G000003252 | 318020 | HW2 | 28 | 65 |15~38 | 90 | 35 | 20 | 15 [ 25| 200/400 | 5850 | M6 | 12 | 95| 16 | 23 | 66.5
G000003253 | 318030 38 |80 2045 114 | 45 | 24 | 18 | 25| 405/810 | 4750 | M8 | 30 | 13 | 20 | 30 | 816

@D, H7
Dk

@DK
I

* *
B i
Aic fic
% %

Tkn/Tkmax ®BAWE Bl (Nm)

B H5E(Nm)  (min’) ®BF REWE
6000003255 | 318050 19 [ 40 [824 [ 25| 16 [12]| 2 [ 66| 21/42 9550 | M6 12 11 | 15 | 46
G000003256 | 318060 | HW | 24 | 55 [15~28] 30 | 18 [14 | 2 | 78 | 75/150 6950 | M6 12 11 | 20 [s75
G000003257 | 318070 | 2.5 | 28 | 65 |15~38| 35 | 20 | 15 |25 90 | 200/400 | 5850 | M8 30 12 | 25 | 73
6000003258 | 318080 38 | 80 20745 as | 24 [ 18| 3 [124]| 4o0s/s10 | 4750 | ms 30 16 | 30 |83s

C-13 C-14




=+
B
fic
(s

sSpindie GClamping Systems

Rotary Joint
/2 Al KB 85 3258

/8"

Model

NO. M
B 5%
G000009367 | 313020 94 81 M16xP15-LH
L
- -
L1

A
y

* [z
2 0O ©

-

G000002742 | 313010

Spray Nozzle Punch
BRAC BYNE K BRI F o BNIE KB IE R 32,

® Auxiliary Spray Nozzle is installed
correctly.

L2

N
;\L '

a7
d6
s
L

d4

L3

BTG ABESEZ-11.
*please refer to the page Z-11.

Used on
& FRIE 72K BR
G000002774 | 314010 | 3.9 @6.5 @10 P16 3 15 J0101,J0102,10108
G000002775 | 314020 | @2.4 ?6.5 @8 P13 3 10 J0104,)0105
G000002776 | 314030 0 @6.5 @10 @15 3 15 J0O109

<lD

B K BT 14

Lathes Component

&
R
fic
4
&
=
2
(!
®)
=
©
O
=
D
=



lﬂ“lﬂs cﬂm!lllllenl Focus On Your Need 0““'

Stainless Steel 3-Jaw scroll chucks

A = [T\ 3288

o SIFARBIITE (SUS420)

* FFFRERET » BEF)ERS.

o TERHFENIEREIELREIER,

s EEHME. SEMITNSRENIRIZE NMEBASE
B ().

Thru-hole power chuck

chZE &) /) 3&EE

* BRI =MABE&ESLE °

¢ RBEINIEIE L RASBRE » WEIERS
iﬁa o

*SAltEERERIFHEE -

*FEREMIRERBRBFITFZILE -

*HmaxEREFBIREVERFEF ZHRK
Mg BOKEIEFTKEIR -

+ Made of stainless steel(SUS420). + It's a WEDGE-HOOK type 3-jaw with the large through-hole.
« Special design, smooth rotation. + Matching surfaces of all parts hardened,ground and lubricateddirectly.
+ All parts are hardened surface treated. + Construction of high rigidity and high clamping accuracy.
+ Use in high acidity, high alkali or high humidity environment not easy to corrode (rust). + F value is the hole diameter of blank draw nut, H is the maximumthread specification, and it could
E be customize. E
J—* J AUFLE &R M PEEEE 1.5 ,"7E
o [~ Front Mounting Rear Mounting G
EE = M i an T EE
| [ |
- e — =¥ —;
{¢ h’:’,"‘" i — \ I ul T | i {tF
?_-"_ of / xr\ \A | | N e 8 s i E)'_
] D1
= \ | EH— 2 Kl - folal< ] -
M f | 1 Ban M
7 —— . i A
n \ /.r P : S it | . D/ n
O :‘ T~ 1 i 1 O
O ©
O O
= =
® M
= S
= e

= 1
T

Model - . h E'h_'":'h:nf: _ Ma DB pudl . Max. spesc AT 4 o Max pressure
L fode :Iun.p_.f-::r::.ulu; Jaw Zi(0a) ,"',j"ﬂm':'.".‘" KN(kgf) JEooimens act | aamnn ”."*_!' '."L'_f_"f’m_.:: r:r1:~:.1;,r BrEEED
Lol L0 15 9 (mm) ¥ (mm) é'...|.r ': BEEA N I x iy P HE(kg) (kg{+3HA) 8 WEL Mpa(kgf/cm?)

- B - 3HC05 | Ad 10 5.4 135 | 12 | 17.1(1750) 35.8(3650) 7000 0.02 6.7 7.5 TR-536 2.5(25)

3HC-06 | AS 12 5.5 168 | 15 | 21.5(2200) 56.8(5800) 6000 0.06 1.9 137 TR-646 2.3(23)

S B AS 16 74 210 | 13 | 34.3(3500) 85.8(8750) 5000 0.18 225 254 TR-852 2.7(27)

- Max. G ng D oter
o Max. Speed & ”;g’gm'd"'* hy | 45 16 74 210 | 13 | 34.3(3500) |  85.8(8750) 5000 | 0.18 22.5 236 TR-852 2.7(27)
e ) - ; : 75300 % T kbt sic10 B 19 838 254 | 31 | 42.6(a380) | 110.7(11300) 4200 | 033 | 345 a1s TR-1075 2.9(29)
s r.p.m. (min") A AR LR Pl (kg) A8 19 8.8 254 | 31 | 42.6(4380) | 110.7(11300) 4200 | 033 | 345 40 TR-1075 2.9(29)
p-m. (| 0.D.Clamping |.D.Clamping Model /&0 :

355C-03 | 85| 45| 60|73 |16 [3.5| 3-Mex1P [35[11]15|10| 3-mexs0L | 2500 @2- 370 @24- P64 1.5 3HC-05 Lo o : - ok : 0 o Ll W O SR
A | 110 | 135 | 826 | 6351 | 9% 3~M10X1.5P | 15 | 3~MeXL.oP | 12 | 33 | MA40xL5P 26.5 238 19.8 7.8

3HC-06 140 168 104.8 - - B-M10X1.5P 16 - 20 45 MSS5x2.0P 319 259.2 23.5 10
355C-04 (112| 58 | 80 | 95 | 24 4.5 |3-M8x1.25P| 42 [ 14 | 17 | 10 | 3-M8X60L 2500 @3- @90 @32- P84 3.3 AS | 140 | 168 | 1048 | 8256 | 116 | 6MIOXLSP | 16 | 3~M6X1.0P | 20 | 45 | MS5x2.0P 319 29.2 235 10
170 210 133.4 - - B-M12X1.75P 20 - - 52 ME02.0P 38.7 a5 320 15

38SC-05 [132| 60 {100|115| 32 |4.5|3-M8x1.25P| 50 | 16 | 20 | 10 | 3-M8X65L 2500 3- ¥110 35- $100 4.6 3HC-08  JIASEEIONS 92 10N |RESS, A EH1 I 5.2 5 6 B - B /Wb UL o0 P FRL i e o ML OG- B VS 10 e 2 O D il 37 =0 L
ﬁ ﬂ ﬁ m Ab 170 210 133.4 106.38 150 B-M12%1.75P 18 F~MEX1.0P 30 52 MBE0x2.0P 38.7 35 30 15
220 | 254 | 1714 - 2 6-M16X2.0P | 22 5 45 | 75 | MB85x2.0p 51.2 46.8 337 14.2
355C-06 |167| 66 [130({147|45 | 5 |3-M10x1.5P|65 |19 |23 | 10 | 3-M10X70L 2000 @4- @160 D4ag- @150 7.9 3HC-10 | A6 | 220 | 254 | 1714 | 10638 | 12334 | 6-MI16X2.0P 18 | 6~M12X1.75P | 45 | 75 M85x2.0P 512 46.8 337 142
AS | 220 | 254 | 1714 | 139.72 | 190 | 6-MI6X2.0P | 24 | 3~M8XL25P | 45 | 75 | ME5x2.0P 51.2 46.8 33.7 14.2

14 62 1 ) 4 = 20 31 60 25 10 -

SHCAS e 14 62 16 6 - 15 : 31 71 25 10 = -
3 20 73 12.5 [1] 5 - 14 37 81 31 12 6-MM10X1.5P 145
it | T 20 73 275 15 S 15 19 37 91 31 12 6-M10X1.5P 145
25 95 155 -2 5 : 2 38 a1 35 14 6-M10X1.5P 180
3HC-08 | AS 25 o5 385 21 = 23 205 38 109 35 14 6-M10X1.5P 180
Ab 25 a5 32.5 15 - 17 20,5 38 103 35 14 6-M10X1.5P 180
30 110 105 10 5 : 25 a3 100 a2 16 6-M12X1.75P 225
3HC-10 | AG 30 110 285 8 : 25 25 a3 120 a2 16 6-M12X1.75P 225
AS 30 110 355 15 ; 18 25 a3 113 42 16 6-M12X1.75P 225

D-01 D-02




Lathes Component

Through-hole rotary hydraulic cylinder
8 5 Y o 22 30 88 R T
*NE¥IFEBEEEERET)RER -

* ZRIFOUHBIREE LS °

¢ Bulit-in safety check valves and pressure relif valves.
¢ Can screw it from the rear end of the cylinder when

mounting.
Q1 P L2
2~Ei’iﬂﬂiﬂ R 3L o L1
(Mounting Hole) | B 62 . ' ,f'_
( I \‘-1 \ 4 |
P =: 1
= = KJ#
1 ﬂ:'? H W 8 N3 |\ M3 _M2 w w ol o o o
—— =
p 1t Q\\ 1 .
1 (_E \ \
& st VAN
M1
' — e \__12~L
7\ 0 ‘ ]
2 e
QE RC1/#83l / = | E1
{q: (Drain Port) 33 | |]I G2 H 61,
| {8
l A S._.Dri J -
l_ Tl K z
Q Eff. Piston areacm’  Max. Draw Bar Force M M
! ey : on are Viax. Draw Bar Force . Maxspeed Moment of 5 P N B
.5 Model _ Eff  PiStOn oo (cm?)  MABERND kgf(kN) VCPrESSUIS oo oW inertia eignie] Jiotel ol leAIEs 4
T e Piston(Dia) stroke : e BEEEED : ] BAEAR ]
B SR, il [t Extend Retract  Push Side Pull Side e T {55 L e C
D ER D) S mm e | B 13 87 man  MPalkefem®) o) Ikg.m? (ke) (it/min) —
¥y TR-428 90 10 |46.8| 507 [1742(17.1)] 1881(18.4) 8000 0.013 6 =1
) TR-536 105 70.8 | 66.5 [2690(26.3)| 2520(24.6) 8000 0.013 6.9 - (o)
TR-646 128 15 105 93 3990(39.0)| 3530(34.5) 4.0 7000 0.019 9.2 ' m
o TR-646C 125 99.1 88 |3765(36.9)| 3344(32.7) ( 4(; ) 7000 0.019 9.2 Q
3 TR-852 145 22 137 127 |4922(48.2)| 4558(44.6) ' 6300 0.057 12.5 3.9 E,
TR-1075 170 25 171 157 5630(63) | 5910(58.0) 5500 0.07 17 4.2 ©
-8 TR-1BB1K 180 25 188.5| 173.6 |7166(70.2)| 6599(64.6) 4800 0.09 21 4.3 3
. N T (D
Madel Gl G2 G2
: i ¥, min. max. min. 3
m TR-428 | 90 126|132 |100| - | 80 44 | 9 | -1 | 34 |24 | 60 | 91 |131.5| 12~MBX20 - - | M33X1.5 75
: TR-536 [105|138|143|115|125(100 43 | 15 | 0 | 40 | 25 |63.5]|99.5| 134 M8X70 M42X1.5
~ TR-646 |128|162|165|130|147|100 65| 15 | O 29 |167.5| 97 |137.5 15 M55X2.0
TR-646C [ 125162 |165|140({140|120| 5| 65| 15 | O | 44 | 29 |67.5]| 97 |137.5| 12~M10X20 | M8BX75 MS55X2.0 |30 15
TR-852 |145|185|184|170|165|130 70121 | -1 22 |685| 98 | 138 Me0X2.0
TR-1075 |170| 215|212 |190| 190 (160 95 125 | 0 | 49 | 24 | 77 | 113 | 163 MBXE0 |14| ME5X2.0 35
TR-1881K | 180|225|229|205|205| 168 100| 23 | -2 | 55 | 30 | 86 | 130 |184.5| 12~M12X24 | M10X90 |16| MS0X2.0
2 Q
TR-428 | M34X1.5 | 27 30|28| 94 | 8 |30| PT1/4| 32 | 53 59 | 98 |5.5| 60 |109| 44 | M5X6 88.5
TR-536 | M44xX1.5 | 27 38|36 | 95.5 30| PT1/4 | 42 | 64 74 | 98 | 6 | 66 |109| 55 | M5X5 | M5X6
TR-646 | M52X1.5 | 29 50|46 | 99.5 52 | 76 85 |116|6.5|76.5|120| 64 | M6EX6 98
TR-646C | M52X1.5 | 29 50|46 995 |85 52 | 76 85 |116|6.5|76.5|120| 64 | ME6X6 | M5X6
9 36| PT3/8 110
TR-852 | M58X1.5 | 30 55152 100 56 | 85 Q6 (128 7 | 80 | 130 73 | MeX7 M6EX8 i"
155 - -
TR-1075 | M84X2.0 | 33 80 | 75 [115.5| 10 [40| PT1/2 | 81 [108| |121|164|6.5| 95 |160| 98 | M6X8 M E t
M6X10 easuring cquipmen
TR-1881K| M89X2.0 | 38 [10.5|85 |81 | 144 | 11 |40| PT1/2 | 85.8 | 115 126 (17511 | 105 | 174 | 103 | MeX10 M]f.iislﬂ

D-03




M_e_a_s_“.ﬂn.g_mjmm Focus On Your Need 0““'

EHG A 25005 EF i 3}
Spindle comprehensive testing machine
o EDITETIKTKREE, m.m]w 3 s
» ENJEBARIEEES), |© i
o MRS RASBIE TR, U i N
aJ 52 & 2 #H BRI . ZHH Bl RFHECIE 1
o RERE 2 BITREE bIENBHRE - S SRS
o IOBE  FIDMIE. HEDMIE. 7). #E70, BRI, B 1 ““ % o %
TR, 38T I | EEE=F1 I |
¢ The thrust stroke can be set according to requirements. . 170 ? ] —
+ Power mechanism servo electromechanical transmis- :?E -l - £| o
sion. The punch is replaced with a simple elastic inter- \ ; | % / k
e ! E% . % P& Z 1 1 X P8

+ Multiple sets of test modes can be set. Multiple sets of
test module memory.

¢ Protection device: a. Over-travel protection b. Torque
overload protection.

)74 =)74
Z ¢ Function: Pull position, thrust position, tension, thrust, C4000M 1 =
15 accuracy detection, spring force test. Elastic attenua- , ’ ®
(Vg . (Fp ]
o= tion test. =
= ) 5
Q QU s Q
£ ' g
= S =.
E ~ — E
[
® )
= =
er —+

Co
N
o

i =8 kg
G000003936 | (C2500S 220V/380V | 2500kg | 80cm*90cm*225cm | (47)800kg

2736
1536

G000003937 | C4000M | 220V/380V | 3500kg | 80cm*90cm*275cm | (#J)850kg

E-O1 E-02




Technical Data




I_B_G_n.llj_c_ﬂ.l_n_alﬂ Focus On Your Need 0““'

Dynamic Balance Standard Formula List JACOBS TAPER DIN238
gEEREANIIER Type "D d 11 Type D @D
JTO | 6.35 | 5.802 |11.112 B6 | 6.35 | 5.85 10
Balance Grade Goal lcilllc251lGe =1 FGie” FeanY leiooll Ma250" FGez0) MGisoo | FGao00 JT1 | 9.754 | 8.469 | 16.669 | | B10 |10.094| 9.4 | 14.5 7
bracision| exwimmfs) | 04 | 1 | 25 | 63 | 16 10 100 250 630 1600 4000 JT2S | 13.94 | 12.386 | 19.05 B12 |12.065| 11.1 | 185
Required | exw(um*rpm) | 38320 | 9549 | 23875 | 60165 | 152800 | 382000 | 954900 | 2387500 | 6016500 | 15280000 | 38200000 JT2 | 14.199 | 12.386 | 22.225 B16S | 15.608 | 14.5 2155

JT33 | 15.85 | 14.237 | 254 B16 |[15.733 | 14.5 24
JT6 | 17.17 | 15.852 | 25.4 B18S | 17.431 | 16.2 25

DI

SETTING OF THE BALANCE SERIES IS ACCORDING TO ISO 1940 STANDARD T eoe teoer omee| [ en e e e 7
T4 | 2855 | 26.346 | 42.069 | | B22 | 21.793 | 19.8 | 405
THE FORMULA AS FOLLOWS: JTS | 35.80 | 33.422 | 47.625 | | B24 | 23.825| 213 | 50.5 . od
U=MXe G=UNBALANCE SERIES
U=UNBALANCE (g-mm)
u="SXM 9549 e=ECCENTRIC DISTANCE(mm)
n
M=ROTER WEIGHT(kg) DIN228” A TANG TYPE"
nxU n=rpm Typel &P Fa' | [dD1} (@dll|idd2 LIS NL20 b Bt ey BRIl
e
9549 x M 9549=CONSTANT MTO | 9.045 | 3 | 92 | 61| 6 | 56 |595| 3.9 |6.5]10.5 1

4
MT1 | 12.65 | 35| 12.2 9 8.7 62 F65.50 5. 201 85118 3. 5|85
ML | iEn | 5 18 14 [ 135 | 75 20 |63 | W] 16 | B |1b

7
8

MT3 |23.825| 5 | 241 | 19.1 | 185 | 94 SORIIE/OR|S1S | i)

MT4 | 31.267 | 65| 31.6 | 25.2 | 245 | 1175 | 124 (119 | 16 | 24 2.5 H{
i . MTS | 44.399 | 65| 44.7 | 36.5 | 35.7 [1495| 156 (15919 | 29 (10| 3
Sauakly IeveRsaccorting 19:i005 1980 And MT6 | 63348 | 8 | 63.8 | 52.4 | 51 | 210 | 218 | 19 | 27 | 40 |13 | 4 ~
g e e permitted residual imbalance or speed 2
= Center of Gravity g 400 \ =
= £ 315 - 3
0 [ & 250 ‘ g = O
QD & 200 Q E' Q)
= £ 150 = < | Q =
O T 15 = w,
f Y l 2 100
S Bh N PP S
- ==ll== e ~
< - Q 453 = L1 B
315 i L2 -
26
Gyratory Center f:g
g 125
\ 10
> B
g 63
s | B
m.-—\ I 1l
S3 31 — DIN228" B DRAW BAR TYPE ¢
e il P
== .. 1B ; Type|| @D | a ¢éD1|/¢d3 [éd4| L1 |2 || T 2/ M | K| r M | MINO.
s == 125 """-\_\ - "“-\.__\ N
, o h = e MT0 | 9.045 | 3 |92 [64] 6 | 50 [ 53] 4 [o2] — |1 L e J
O og S . MT1 | 12.065 [3.5[ 122 | 94 | 9 [535 | 57 | 5 [0.2] M6 |16 [1.2] I 191 16D a }) =
/'f 2 o \%\ = — MT2 | 1718 [ 5 | 18 [146] 14 | 64 | 69 | 5 |02[M10] 24 [1.6| S = 8y
/‘ E E 0.4 B MT3 | 23825 | 5 | 241 | 198 | 19 81 86 7 |06|MI12| 28| 2 "y T
LA E; 0315 =7 = == MT4 | 31.267 |65 | 316 | 259 | 25 |1025| 109 | 9 1 |M16| 32 |25 & Lk
! e L = = MTS | 44.399 | 6.5 | 44.7 | 37.6 | 35.7 | 129.5 | 136 | 10 | 2.5 | M20 | 40 | 3 . L1 "
6 EE 0.15 = MTEe | 63.348| 8 | 63.8 | 539 | 51 182 | 190 | 16 | 4 |M24 | 50 | 4 L2
2 £ 5 0125 - -
& S géﬁ e R E R e R T T R R R
2000 3000 6000 10000 15000 20000 30000 50000
Maximal operational speed n (r.p.m) rev/min

Z-01 Z-02




™
O
=
=,
O
—
O
Q
ﬁ
Q

Technical Data

Focus On Your Need 0““'

JISB 6339

¢ WIS HhIN) LEKIESE » OJSRED

+ INIEHMAIEFEIERGE.3 » KFPFTRMAIRHRG2.52101%E,
* {RIEEEE  JIS MAS-403

o HEEBLEINGRATI

« EAME : JIS-SCM415

+ BEXIIHRC 56 ZRE XHZ0.8mm

« HEE/\R0.8um

o IZEHEEEE : Ra/JVIR0.5um

¢ |f it is suitable for center coolant standard, it can be ordered.

¢ The shank has pre-balance at G6.3, and can provide precision balance at G2.5, made by
request.

¢ Shank body standard:JIS MAS 403.

¢ Taper tolerance AT3.

+ Basic Material : JIS-SCM415.

¢ Hardness HRC56 Carbon depth 0.8mm.

¢+ Roundness 0.8um.

DIN 2080

* IRISHEXE : DIN-2080

o HELQZE/NIRATI

* EAME : JIS-SCM415

+ BBEAXPHRC 56 ZEWREKXHR0.8mm
+ EEE/NFR0.8um

+ IZEEKEE : Ra/J\BR0.5um

¢ Shank body standard:DIN-2080.

+ Taper tolerance AT3.

¢ Basic Materance: JIS-SCM415.

¢ Hardness HRC56 Carbon depth  0.8mm.
¢ Roundness 0.8um.

+ Surface roughness:Ra  0.5um.

Mount D 14

type 9 +0. min

-0.4

I.T_]
|

= el
l

+ Surface roughness:Ra  0.5um. 60"
e |3 -
12 i
(. :
'
TJ 27 com— i \ | |
&) T o of o
1
Y
E%"‘ ¥
# 11 o P
’ L 4 :
0 ) (]
[ ) | )] [ ) (] £
DE A 0 3
BT30 | 46 | 31.75 | 56.14 | 38 | 125 | 8 704 | 484 | 34 | 24 [ 20| 2 | M12x1.75P
BT40 | 63 | 4445 | 75679 | 53 | 17 | 10 | 924 | 654 | 43 | 30 [ 25| 2 | Mmi6x2.0P
BTSO | 100 | 69.85 | 119.02 | 85 | 25 | 15 | 139.8 | 101.8 | 62 | 45 [ 35| 3 | M24x3.0p
Z-03

BT30 50 | 31.75|16.1 | 17.11 |16 | 684 | 484 | 3 24 8 | 1/2"-12W,M12x1.75P,1/2”-13UNC
BT40 63 | 4445 | 16.1 | 25.00 | 16 | 934 | 654 | 5 32 10 5/8"-11W,M16x2.0P
BI50 | 975 | €9.85 | 25.7 | 39.20 | 3.2 | 1268 | 1018 | & 47 12 1"-8W,M24x3.0P

Z-04

—i
™
O
=
=4
o
o
O
Q
ﬁ.
Q




™
O
=
=,
O
—
O
Q
ﬁ
Q

Technical Data

Focus On Your Need 0““'

DIN 69871

o LB EHR AN LEKEZEE (DIN-69871-AD or B) » TJ3#EEC,

+ MELMBIENFEERGE.3 » KEPFERKMIZEHEG2.52RE
+ IRIEEZLEE : DIN-69871

o HEQZE/IRAT3

o EAME : JIS-SCM415

+ IBEKIRHRC 56 ZHRE KXFR0.8mm

« EEE/NL0.8um

o IZEHEKEE : Ra/JVFR0.5um

+ [f it is suitable for center coolant standard(DIN-69871-AD or B), it can be ordered.

¢ The shank has pre-blance at G6.3, and can provide precision balance at G2.5, made by request.
+ Shank body standard: DIN-69871.

¢ Taper tolerance ATS3.

+ Basic Material: JIS-SCM415.

¢ Hardness HRC56 Carbon depth 0.8mm.

¢ Roundness 0.8um.

+ Surface roughness:Ra  0.5um.

DIN 69893 A+C

+ MELEMBIEFEIERG6.3 » IKFFPFERINIRHEG2.52IRE,
+ {B{EIR%E : DIN-69893

* HEEQAZENIRAT3

+ BEERXME : JIS-SCM415

+EEKHHRC 56 ZHoREXFL0.8mm

+BEEE/NR0.8um

+iIZEHEREE : Ra/JViR0.5um

+ The shank is pre-balance at G6.3, and can provide precision balance at G2.5, made by request.
¢ Shank body standard: DIN-69893.

¢ Taper tolerance  AT3.

¢ Basic Material: JIS-SCM415.

¢ Hardness HRCS6 Carbon depth  0.8mm.

+Roundness 0.8um.

¢ Surface roughness:Ra  0.5um.

F 3
%L —(d1 -
B
T 7
o ﬁIm (D -] 1 = ol
O 1 0l o k O o o
: L o
1:10 4 :l‘| v
L k |
2]l 15 |
S -
< Il »le 12 >

BT30 50 |31.75| 59.30 [44.30| 45 | 13 | 16.1 47.8 335 | 24 19 | 164 | 15 M12x1.75P
BT40 |63.55(44.45| 72.30 |[56.25| SO0 (17 [16.1| 684 | 425 | 32 | 25 | 22.8 | 185 M16x2.0P
BT50 |957.50|69.85]|107.25|91.25| 80 | 25 | 25.7 | 101.75 | 61.5 | 47 | 37.7 | 355 | 30 M24x3.0P

Z-05

H5K32 | 32 (24007 | 17| 21 | 19| 26 3 4 | 16 | 3.2 ]| 35 20 16 7.05 7 9

HSK40 | 40 | 30.007 | 21 | 255 | 23 | 34 45 4 |1 20 | 4 35 20 16 8.05 9 11

HSK50 | 50 [ 38.009| 26 | 32 | 29 | 42 | 59.3 7 | 25 5 42 26 18 10.54 12 14

HSKé3 | 63 | 48.010 | 34 | 40 | 37 | 53 | 72.3 7 | 32 [63 | 42 26 18 12.54 16 18

HSK100 | 100 | 75.013 | 53 | 63 |58 | 85 |109.75| 7 | 50 | 10 | 45 29 20 20.02 20 22
Z-06

ejeq |esiuydo9 |




I_e_c_ll.llj_c_ﬂ.l_n_a_lﬂ Focus On Your Need 0““'

ASME B5.50 Hex Key Drill Chuck Manual
. , - ER &R TV SRR IR {E A A
o QIE A R eI LE KB (DIN-69871-AD or B) » TJ3%H2, A
* RIEERBIENFEIERG6.3 » IKEFPHERIMIIZRG2 52N, CAUTION
* FHIEIEE - ANSI-B5.50 + Clamping or releasing the cutting tool only at standstill of machine spindle or
o HEEE N\ RATS outside the machine.
= -~
+ Please spray oil on the surface to prevent corrosion before storing Hex Key Drill
o EAHE : JIS-SCMA15 Chuck =
+ iBE KIRHRC 56 ZREXKHZ0.8mm HOW TO MOUNT
+HEIE/HR0.8um + Hex Key Drill Chuck is clamped by Hex Key on side of the drill chuck actuating a
+ZEHEE : RaJ\VFR05um bevel gear. Turn hex key counter clockwise to open the drill chuch, clockwise to
close it. Open the jaw of Hex Key Drill Chuck wide enough to insert the cutting
* |f it is suitable for center coolant standard(DIN-69871-AD or B), it can be ordered. tool.(FIG.A)
¢ The shank has pre-balance at G6.3, and can provide precision balance at G2.5, made by request. « Tumn Hex Key clockwise to clamp the cutting tool.(FIG.2)
¢ Shank body standard: ANSI-B5.50 + Hex Key Drill Chuck is ready for work.(FIG.3)

* Taper tolerance  AT3. ¢ Please turn Hex Key counter clockwise to release the cutting tool and move the

+ Basic Material: JIS-SCM415.

¢ Hardness HRC56 Carbon depth  0.8mm. TRER
o RAEXEB IS EEIR NG T HE /R R,

o TERTINEESRTVARER.CA] » SRTETRENN L B58lmaRA5 LE 58
REBEEL R

i

cutting tool.

i

¢ Roundness 0.8um.

1k

¢ Surface roughness:Ra 0.5um.

—I
g + BRI\ EL N BIRFEE) LR IESESHRERIG A ; Y BiRFoi]RE 2
=) =M ; EH7 RS RIS BB = M. S48 5aaE2 = MBIE R TR, (1) =3
o . 2, 4 0.375" DRILLX0.015" DEEP * IER7 AR ERIARERSR R (K2) 0
5 A - - X / o EEERTVRIRTIRAIAINT . (H3) —D-
o ra =+ 1 o BEUEAERTRMEENIR, 1
o 7 —% o

38 - i1 . = d 3 [ o Y —
I Spindle
) - ¥ EL |
0.125% | |0.625"
» |1. »le 1.375" > Tapered Part Soft Steel Bar

o AL BRI

was |
L

D d4 d5
0.002 0.01 ' 20 Collar

+0. +0. mix.
0 B EE

— Tapered Part

CAT30 |1.812|1.250| 2.176 | 1.531 | 1.250 | 0.516 | 0.645 | 0.2813 | 1.875 | 1.00 | 0.188 | 0.735 | 0.640 | 0.500-13 2 7 2R 4y

CAT40 | 2.500 | 1.750 | 2.863 | 2.219 | 1.750 | 0.641 | 0.645 | 0.2813 | 2.687 | 1.12 | 0.188 | 0.985 | 0.890 | 0.625-11 Sleeve

CAT45 | 3.250 | 2.250 | 3.613 | 2.969 | 2.250 | 0.766 | 0.770 | 0.2813 | 3.250 | 1.50 | 0.188 | 1.235 | 1.140 | 0.750-10 HIE .

CAT50 | 3.875 | 2.750 | 4.238 | 3.594 | 2.750 | 1.031 | 1.020 | 0.2813 | 4.000 | 1.75 | 0.250 | 1.485 | 1.390 | 1.000-8 J Spénéle
aWws

Z-07 Z-08




®
o
=
=
o
o
O
o
H
),

Technical Data

Focus On Your Need 0““'

B &8 IR R (EA A

TEREIR

¢ [KIBILFMPEE" N@RBREE” <58 » ENTEEMFMEBILIREE ; BRI > IERBISHFER » K&
OEEEHEREREZEREN.

+ FRIRIR(ERT  BBUERZNEERRHORETAIERINTE » BRARIFISSELREBEEEBEEE. RIB
SRR ST EEERIERERENTEREN.

¢ FRDMMHEEEREE » IRFEHA—EXRFERANRERLF—ERIRINITE » Bt REERBEEHE
LR ECEEEARES g ITHEBEREXW,

¢ [EARBARSINLES - ROIE » AO0EE ; BV BIRERXREINE » REFZTAEISEFMA - BieHREN -
RITgEEREREmMEBNZTEREN.

o [LREEREEFE AR BRERIFILEEAEES » IRBRTHEALNRME LGS » ATESHERBIRDE®R
SES > BITJEESE RN E REMENZEREN,

+ 7)BSHIE XIS PR TH » SRS EERE » ERETESPHOBBIEE  —EEERNBRETZE
REMN.

¢ THEERT2FIEA] » ZIREREE ; [AFSSEERE » SRIEETEFPESEIEE  SHRENRZERE
Mo

o BIRRLESIORT » 00 : ITEIEENFHIKR, RN ER » BIZVEEBILLRE » EBFERIEBERE
MEH » BENBEMZEREN

+ P2EEOBERE. EHEEEHMRSIREBEENE » SEBESEERRE H SERREMZEREN.

"REEBETE " TR

* JRBEHEER (Tapered part)® FBRG#HIEFRTZIF » WENER N RIVFHE,

¢ = TUL)/EHEOI = Se3E MiH AV K FHRZ To

* T HREER(Tapered part)Z2REEIT (Arbor) th—EEiBEZ 1P

* G BN ARERA SN AR A SREE 2 $#E 50  RART » EE A ZEBIH AP SN ORE 2E » AR
PEEMASPRERER A » SEEZ)(EREEHE 30V 2REEIRIE B,

* BB = MR E.

Spindle
F

Q ==
Tapgrequ Part Soft Steel Bar l L
s A,8p 01 B
Collar —
BlER —
Tapered Part
Sleeve ST R4
HE
_. Spindle
Jaws e

o5 B (L 1) P 45 SR T4
EAFIERED ME (LI
2/30

L|L1

Z-09

Tapered Part

Keyless Drill Chuck Manual
CAUTION

+ Mount the chuck firmly according to" how to mount™ in this manual. Otherwise, the chuck might be loosened, which may eventually result in seri-
ous bodily injuries or accidents.

+ Check and confirm that the toaol is clamped firmly by the three jaws before starting operation. Improper clamping of the tool will cause its abnormal
runout, breakage and/or detaching, which may result in serious bodily injuries or accidents.

+ Tighten the chuck strongly by hands. In case of chucking a tool of smaller diameter with a chuck of larger capacity, the automatic tightening mech-
anism may fail to function properly, which may cause slipping of the tool and eventually its falling down.

+ The chuck cannot be used in CCW rotation. If the chuck is rotated in CCW direction, the tool will be loosened and spin off from the chuck which
may cause serious bodily injuries or accidents.

¢ The chuck cannot be used to the machine having an emergency stop mechanism. If the machine spindle stops rotating by such emergency stop-
ping, the tool will be loosened and spin off from the chuck, which may cause serious bodily injuries or accidents.(Use our CNC Keyless Chuck or

+ Dream Chuck for the machines having such emergency stop mechanism.)

+ Do not touch the chuck or the tool while being rotated. Otherwise, there will be dangers to be caught by the rotating parts of the machine, which
can result in serious bodily injuries or accidents.

+ Do not manipulate the chuck before complete stop of the spindle. Otherwise, there will be dangers to be caught by the rotating parts of the ma-
chine, which can result in serious bodily injuries or accidents.

+ Do not use the chuck if some abnormal conditions, like cracks, breakage or transformation are detected thereon. Use of such defective chuck
may cause serious bodily injuries or accidents.

+ Do not make any repairing, re-assembling nor remodeling on the chuck. Use of such re-worked chuck may cause serious bodily injuries or acci-
dents.

How to mount

+ The tapered part of the chuck must well be cleaned off oily material, dust and foreign material.

+ The three jaws must be retracted below the level of the chuck nose.

+ The tapered part of the spindle or the arbor must also well be cleaned.

+ Insert the tapered part of the spindle or the arbor into the tapered part of the chuck, taking care not to make any flaws or damages on any of the
tapered parts. And drive the chuck by hammering the edge of the soft steel bar with a wooden hammer, taking care not to let the chuck slip off
or fall down from the spindle or the arbor.

Soft Steel Bar “:I

+ Do not hammer the jaws nor sleeve.

Spindle
e

S AL BB AT i

Collar —

B B I =

Tapered Part G-
Sleeve 7,200 )
AIE
, Spindle
Jaws N\ |/ i

e O X X

When you operate, the length of
holding capacity (L1) shall insert
the drill bit to the bottom or at least
insert to 2/3 of the length of three
Jaws(L).

L(L1

Z-10

i

i

1k

ejeq |esiuydo9 |




I_B_G_n.llj_c_ﬂ.l_n_alﬂ Focus On Your Need 0““'

Spray Nozzle Punch

15 7K B FIREZR A

ZRE®E T e
JEXENFREEKEEMESETERRRFMEEZBE
+ EHNBRTTEEEE ; EOBRTIRREE

BEAR
e s i bt e e i

o EIEKEES A EER RN 3 Bi s

Release 7
lease bl mmmmmmmmmmm—m—————

BE T B K8 B RL REEIEKRER.
o A K85 (6] AIEKEEAE o
ot FEIR S A 2 5 1F 55 8 B A 22 82 Q
—> [ L A = |
o )
QL ' Q
O | jI.E """""""""""""""""""""""""""""""""""""""""""""" O
Q Q
= B Y . v s e ) v e —
Q gz E‘E Q

ﬁ‘ﬁm 4= E-I S F | R T—

e SELORNEEE ]
WBKBREE SPFEIE S e
' 1% /K GBEKRE P )
! éE ““““““““““““““““““““““““““““““““““““““““““““““““““
é; %E‘ It R 5 o e .13

Z-11




N T el — — 5
HIxE,

= }__ — m :'
FOCUS ON YOUR NEED

RIER/ISIHR -

2o
R

5

OUNI =6 N R
UNl zEEmaRAS :
|
EP/AT) - 40453 ERMALESIEXRE _ER 360 5% 25 223 _ ‘ b
: ; : : : www.ounimart.com
25F.-3, No.360, Sec. 2, Tawian B_l-‘i.fd., North Dist., Taichung City 404, Taiwan service@ounimart.com
ALY - 5234422 RAIBEARK BRI 8 7 5% TEL : +886(04)-8922290
No. 87, Dongxi Rd., Pitou Township, Changhua County 523, Taiwan FAX : +886(04)-8922293
HEMEAE - AL IRBFRERSIEEET - 9ERER - OUNICAO001

202009



